Acid Base Titrations
1) 45.2 ml of 0.054 M hydrochloric acid neutralized 75.8 ml of lithium hydroxide.  Find the molarity of the lithium hydroxide.

2) 60.5 ml of 0.86 M barium hydroxide neutralized 67.5 ml of nitric acid.  Find the molarity of the acid.

3) 75.4 ml of 0.25 M sulfuric acid was titrated against 47.5 ml of potassium hydroxide.  Find the molarity of the potassium hydroxide.

4) 62.5 ml of H3PO4 neutralized 224.5 ml of 0.24 M barium hydroxide.  Find the molarity of the acid.

5) How many milliliters of 0.325 M perchloric acid are needed to neutralize 76.5 ml of 0.025 M calcium hydroxide?

6) 165 ml of sulfuric acid neutralized 62.5 ml of 0.87 M barium hydroxide.  Find the concentration of the acid.

7) 60.5 ml of 0.42 M sodium hydroxide were titrated against 69.4 ml of hydrochloric acid.  Then 37.5 ml of this acid neutralized 47.5 ml of potassium hydroxide.  Find the molarity of the potassium hydroxide.

Hydrolysis

1) Find pH

a. 1 g Na2CO3 in 500 ml

b. 1 g NaHCO3 in 750 ml

c. 1 g NH4NO3 in 1.5 L

2) Find Kb for SeO3-1 if Ka for HSeO3 is 2.5 x 10-8
